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College English Test (1)

Band 6

Listening Comprehension

Section A : Short Conversations

Directions ; In this section you will hear ten short conversations. At the end of each conversation,
a question will be asked about what was said. The conversation and question will be spoken
only ONCE. After each question there will be a pause. During the pause, you must read the
four suggested answers marked A), B), C) and D), and decide which is the‘ best answer.

Then blacken the corresponding letter on the Answer Sheet.

-

Example: You will hear:
You will read: A) 2 hours. B) 3 hours.
C) 4 hours. D) 5 hours.
The correct answer is C). You should mark [ C] by blackening it on the Answer Sheet.

1. A) 3:15. B) 3.30.
C) 3.00. D) 3.45.
2. A) There are too many people on the beach.
B) The man doesn’t like the beach.
C) The man and woman don’t have a blanket.
D) The woman persuaded the man to go to the beach.
3. A) It’s too expensive. B) It doesn’t look nice.
C) It consumes too much gas. D) It’s too small.
4. A) They invited their friends to a movie.
B) They decided to go to a great movie.
C) They accepted an invitation to a good movie.

D) They saw a good movie.

5. A) To study high technology. B) To modernize China.

C) To enrich himself. D) To realize his ambitions.
6. A) Monday. B) Tuesday.

C) Wednesday. D) Thursday.

7. A) At a department store. B) At a post office.



C) At a drugstore.
8. A) A foreign student.
‘C) A student advisor.
9. A) Interviewer and applicant.

C) Doctor and patient.

D) In a library.

B) An American student.
D) A university professor.
B) Boss and employee.
D) Lawyer and client.

10.

A) 17 hours.
C) 6 hours.

B) 23 hours.
D) 11 hours.

Section B: Longer Dialogue

Directions: In this section, you will hear one longer dialogue. At the end of the dialogue, five

questions will be asked about what was said. Both the dialogue and the questions will be
spoken only ONCE. After each question there will be a pause. During the pause, you must
read the four suggested answers marked A), B), C) and D), and decide which is the best

answer. Then blacken the corresponding letter on the Answer Sheet.

Dialogue

Questions 11 to 15 are based on the dialogue you’ve just heard.

11. A) Eastern Moon. B) The Cold Earth.
C) Rag Doll. D) Indonesia.
12. A) In 1959. B) In 1960.
C) In 1965. D) In 1970.
13. A) His experience in Indonesia.
B) His experience at school.
C) His encounter with his wife.
D) The television documentaries he made.
14. A) It was only an experiment, so it was not serious.
B) He was busy working on his novel.
C) He had to concentrate on films.
D) He was short of money.
15. A) He is an experienced farmer. B) He is a film maker.

C) He is a native of England. D) He is a versatile person.

Section C: Short Passages

Directions: In this section, you will hear two short passages. At the end of each passage, you

will hear some questions. Both the passage and the questions will be spoken only ONCE. After

. you hear one question, you must choose the best answer from the four choices marked A) , B) ,

C) and D). Then blacken the corresponding letter on the Answer Sheet.



Passage One
Questions 16 to 19 are based on the passage you've just heard.

16. A). Its fast pace and rhythms. . B) Its simple themes.
C) Its beautiful melodies. D) Both B) and C).
17. A) South America.
B) The countryside throughout America.
C) Urban areas in the Southern U. S. A.
D) The countryside in the Southern U. S. A.
18. A) It originates from the American Indians.
B) It has simple themes and melodies.
C) It mainly expresses the miseries of the black people and their hard lives.
D) It describes the situations and feelings of the American people.
19. A) Five. B) Four.
C) Six. D) More than Six.

Passage Two

Questions 20 to 25 are based on the passage you've just heard.

20. A) People from Holland. B) People from Britain.
C) People from Germany. D) The Puerto Ricans.

21. A) Asians. B) Irishmen.
C) Eastern Europeans. D) lialians.

22. A) For adventure. B) For religious freedom.
C) For a better life. D) For independence.

23. A) Because they arrived before laws were passed to limit immigration.
B) Because they did not come in large numbers.
C) Because they were treated as American citizens.
D) Because they were rich.
24. A) New York’s original name was New Amsterdam.
B) Half of New York’s inhabitants are of British origin.
C) New York was open to immigrants from all countries until the late 19th century.
D) Many of the immigrants wanted to become Americans as soon as possible.
25. A) With earlier settlers who had come from their own countries.
B) With those who shared similar religious beliefs, customs and language.

C) With Americans of other nationalities.
D) Both A) and B).



College English Test (2)

Band 6

Listening Comprehension

Section A: Short Conversations

Directions : In this section you will hear ten short conversations. At the end of each conversation,

a question will be asked about what was said. Each conversation and question will be read only

ONCE. After each conversation, there will be a pause. During the pause, you must read the

four suggested answers marked A), B), C) and D), and decide which is the best answer.

Then blacken the corresponding letter on the Answer Sheet.

Example: You will hear:
You will read: A) 2 hours
C) 4 hours

B) 3 hours
D) 5 hours

The correct answer is C). You should mark [ C] by blackening it on the Answer Sheet.

1. A) run down to the store
C) watch TV
2. A) go to the post office
C) cook beans
3. A) father and daughter
C) brother and sister
4. A) American wonders
C) bad quality of U.S. products

5..A) He gave his lecture in the corridor.

B) buy some sugar

D) join a football game
B) have dinner

D) clear the table

B) mother and son

D) teacher and student
B) good workmanship

D) synthetic materials

B) More people went to his lecture than had been expected.

C) He didn’t like people crowding in the corridor.

D) The audience was bored by his lecture.
6. A) heat the kettle

C) stay for the night
7. A. try to get a refund

C) have the camera fixed

8. A) by bus

B) drink the tea
D) catch the bus
B) buy a new battery

D) buy a new camera
B) by air



C) by sea D) by train

9. A) in a factory B) in a restaurant
C) in an office D) in a store

10. A) Her traffic jam was a lame excuse. B) She was just unlucky.
C) He sympathized with her. D) Her delay was justified.

Section B: Longer Dialogue

Directions : In this section, you will hear one longer dialogue. At the end of the dialogue, five

questions will be asked about what was said. Both the dialogue and the questions will be
spoken only ONCE. After each question there will be a pause. During the pause, you must
read the four suggested answers marked A), B), C) and D), and decide which is the best

answer. Then blacken the corresponding letter on the Answer Sheet.

Dialogue

Questions 11 to 15 are based on the dialogue you’ve just heard.

11.

12.

13.

14.

15.

A) No more than $3,500. B) About $3,630.

C) About $3,550. D) Less than $5,190.
A) Between the Lancia and the Volvo. B) To the left of Peugeot.
C) At the back of the showroom. D) Behind the Peugeot.
A) 40 miles per hour. B) 82 miles per hour.

C) 80 miles per hour. D) 90 miles per hour.

A) It’s very comfortable. B) It’s cheap to run.

C) It has a built-in radio. D) It’s a reliable car.

A) The price of the car. B) The space of the car.
C) The speed of the car. D) The mode of the car.

Section C; Short Passages

Directions ; In this section, you will hear two short passages. At the end of each passage, you

will hear some questions. Both the passage and the questions will be read only ONCE. After
you hear a question, you must choose the best answer from the four choices marked A), B),

C) and D). Then blacken the corresponding letter on the Answer Sheet.

Passage One

Questions 16 to 20 are based on the passage you've just heard.

16

17

. A) a telephone operator B) a computer expert
C) a widow D) a social worker

. A) a computer network for senior people



B) a social gathering for people 55 or older
C) a leaning center for computer lovers

D) an organization serving widows or widowers

18.- A) about 50,000 B) about 15,000
C) about 500,000 D) about 150,000
19. A) 1:30 in the morning B) on holidays
C) any time at night D) on evenings and weekends

20. A) It offers health care advice.
B) It helps people learn new technology.
C) It keeps old people alive and informed.

D) It popularizes computer technology among senior citizens.

Passage Two
Questions 21 to 25 are based on the passage you've just heard.

21. A) Manchester B) Edinburgh
C) London D) Birmingham
22. A) Because she was unhappy in her marriage.
B) Because sex was then a new territory in science.
C) Because she wanted to distinguish herself.
D) Because she was an adventurous woman.
23. A) WISE PARENTHOOD B) BIRTH CONTROL
C) FAMILY PLANNING D) MARRIED LOVE
24. A) Because she had no money to publish it.
B) Because publishers were unwilling to publish it.
C) Because she was afraid it might cause her embarrassment.
D) Because there was a law banning publication of such books.
25. A) novelty B) personal interest
C) shock D) literary style



College English Test (3)

Band 6

Listening Comprehension

Section A: Short Conversations

Directions ; In this section you will hear ten short conversations. At the end of each conversation ,
a question will be asked about what was said. Each conversation and question will be read only
ONCE. After each question there will be a pause. During the pause, you must read the four
suggested answers marked A), B), C) and D), and decide which is the best answer. Then

blacken the corresponding letter on the Answer Sheet.

Example: You will hear.
You will read:A) 2 hours. B) 3 hours.
C) 4 hours. D) 5 hours.
The correct answer is C). You should mark [ C] by blackening it on the Answer Sheet.

1. A) John is fully occupied with his studies. B) John doesn’t like camping trips.
C) John is a poor student. D) John will go camping on Sunday.
2. A) Jack did not get an “A” in math.
B) Jack thinks he is working hard.
C) Jack thinks he only need more time for the exam.
D) The woman thinks Jack ought to get an “A” in math.
3. A) Elsa and Jennie are still good friends.
B) Elsa doesn’t like talking.
C) Elsa and Jennie used to be friends.

D) Jennie stopped going to swimming pools with Elsa.

4. A) 10.00 B) 10.30
C) 9:00 D) 9.30

5. A) Monday. B) Tuesday.
C) Friday. D) Sunday.

6. A) Alice is unlucky. B) Alice is a poor student.
C) Alice will be admitted into college. D) Alice will be disappointed.

7. A) The team will win the next game.



B) The team has done well so far.

C) The team will not win the next game.

D) The team doesn’t seem to be working well.
8. A) Gloria will come to see them tonight.

B) He is to see Gloria tonight.

C) He saw Gloria and spoke to her this morning.

D) Gloria called him in the morning.

9. A) Rewrite the composition. B) Correct his spelling mistakes.

C) Finish the compositions. D) Hand in the composition on time.
10. A) A more expensive car. B) A better bargain.

C) A used car. D) A bigger car.

Section B; Longer Dialogue

Directions: In this section, you will hear one longer dialogue. At the end of the dialogue, five
questions will be asked about what was said. Both the dialogue and the questions will be
spoken only ONCE. After each question there will be a pause. During the pause, you must
read the four suggested answers marked A), B), C) and D), and decide which is the best

answer. Then blacken the corresponding letter on the Answer Sheet.

Dialogue

Questions 11 to 15 are based on the dialogue you've just heard.

11. A) It’s awfully cold. B) It’s a great day.

C) It’s stormy. D) The wind stops blowing.
12. A) Breakfast. B) Lunch.

C) Supper. D) Dinner.
13. A) The lasagna. B) The tomato sauce.

C) The spaghetti. D) The green salad.

14. A) The man recommends the lasagna.

B) The spaghetti is awfully salty.

C) The green salad isn’t quite right.

D) The woman gives up her original plan on what to order.
15. A) They are chatting and ordering.

B) They are dating.

C) They are planning to go jogging.

D) They are discussing how to be in good shape.

Section C; Short Passages

Directions: In this section, you will hear two short passages. At the end of each passage, you
.8



will hear some questions. Both the passage and the questions will be read only ONCE. After
you hear a question, you must choose the best answer from the four choices marked A), B),

C) and D). Then blacken the corresponding letter on the Answer Sheet.

Passage One

Questions 16 to 20 are based on the passage you've just heard.

16.

17.

18.

19.

20.

A) In the 17th century. B) In the 19th century.
C) In the 18th century. D) In the 16th century.
A) 100 or so. B) More than 200.
C) About 200. D) More than 100.

A) The use of IBM computers.

B) Admiral Yi Sunshin’s determination.

C) The complex process of building a ship.

D) The success of the first iron-clad vessel.

A) South Korea is one of the biggest shipbuilding nations of the world.
B) South Korea exports submarines.

C) South Korea exports ships at a competitive price.

D) South Korea is making the most of modern technology.

A) South Korea today has a powerful navy.

B) The first iron-clad vessel looked like a shark.

C) Exporting ships brings in a large amount of American dollars for South Korea.

D) Admiral Yi Sunshin is proud of the success of South Korea’s shipbuilding industry.

Passage Two

Questions 21 to 25 are based on the passage you've just heard.

21.

22.

23.

24.

25.

A) 700 million. B) 1 billion.
C) 400 million. D) 150 million.
A) Some wish to get ahead.

B) Some wish to leave their own country.

C) Some want to learn science.

D) Both A) and B). .

A) German. B) Chinese.
C) French. D) Russian.
A) British colonialists. .

B) American CI’s.

C) The multi-national corporation.

D) American TV programs.

A) Teaching English as a second language is a profitable business.




B) English teachers are well paid.
C) English is not the most popular language everywhere.
D) Russian speaking people outnumber English speaking people in Eastern Europe.
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